29.8.1 HIE kA TEEADOR v REER

AN A H LRI EES IS tHasEhRe N E)
JLRG HaFL 5 wl(aEs A af sEE] ARl R B s A sl AE (H) [ (&)
ik 45, 309] 109, 204] 53, 516] 55, 688 19 -4 -25 55 80 21 463] 442 0 122 122
HI—TH 665 1,438 703 735 1 -3 1 1 0 —4 4 8 0 2 2
S =T B 536| 1,325 666 659 -1 -2 0 0 0 -3 1 4 1 4 3
SLIL=TH 451 1, 048 512 536 0 0 1 2 1 0 4 4 -1 0 1
SulaEt| 1,6520 3,811 1,881 1,930 0 -5 2 3 1 —7 9 16 0 6 6
o an—T1H 483l 1,034 485 549 4 2 -1 0 1 2 9 7 1 1 0
Heorn " TH 748[ 1,883 918 965 -1 1 -2 0 2 3 6 3 0 0 0
Mo R —TH 514 1,264 628 636 6 5 0 0 0 3 4 1 2 2 0
g AaMNT H 368 924 450 474 -2 -5 -2 0 2 -1 2 3 -2 0 2
o] H 542 1,258 618 640 5 5 0 1 1 4 11 7 1 1 0
g ST H 230 521 247 274 1 2 1 1 0 1 1 0 0 0 0
s ntTH 611 1,617 800 817 6|  -13 -1 2 3 -6 1 7 -6 0 6
g\ TH 393 931 464 467 4 7 0 0 0 3 4 1 4 4 0
I 594 1,460 720 740 0 2 2 0 2 5 3 -2 0 2
s a4, 483 10,892 5,330 5,562 11 -3 6 9 11 43 32 -2 8 10
Hik R — 1 H 319 816 415 401 1 -2 -1 0 1 -1 3 4 0 0 0
I S = 922 2,052 1,018 1,034 7 6 1 2 1 3 8 5 2 2 0
6 = 664f 1,498 729 769 0 -7 -3 1 4 -5 1 6 1 1 0
e et 1,905 4,366 2,162| 2,204 8 -3 -3 3 6 -3 12 15 3 3 0
ek BR—TH 560 1,271 631 640 -2 -2 -3 0 3 -1 3 2 2 0
PSR T H 354 845 452 393 6 19 0 1 1 8 0 11 11 0
2 = 245 563 280 283 -2 -5 0 0 0 -5 0 0 0
£ S N 533 1,323 678 645 1 6 -1 0 1 5 12 2 4 2
sk aEt 1,692 4,002 2,041 1,961 3 18 —4 1 5 7 23 16 15 17 2
T 5757) 355 1,006 448 558 0 -1 0 1 2 3 1 -1 0 1
HOEE ) — 1 H 156 387 188 199 0 0 0 0 0 0 0 0 0 0 0
HOEER) T H 399 976 469 507 -2  -14 -2 0 2l -10 3 13 -2 0 2
HOEE) =T H 662 1,700 826 874 -2 -2 -1 1 2 3 9 6 —4 0 4
HOEESI Y T H 696 1,774 862 912 -1 -1 3 3 0 -1 4 5 -3 0 3
HOEE) ] H 382 935 465 470 -1 -1 -1 0 1 2 3 1 -2 3 5
HOEEH S T H 395 969 469 500 1 0 -1 0 1 1 1 0 0 0 0
HOEE I T H 643 1,488 720 768 8 10 0 1 1 12 18 6 -2 0 2
HOEEFD A 3,333 8,229] 3,999] 4,230 3 -8 -2 5 7 7 38 3if  -13 3 16
PEEERI| 1,463 3,075 1,438 1,637 -4 11 -1 1 oAl -11 4 15 1 5 4
FHIAR 328 725 359 366 3 4 -1 0 1 4 4 0 1 1 0
@%aﬂqﬂ% TH 444 992 488 504 —4 —7 0 0 0 -9 2 11 2 2 0
wtlﬂy% TH 225 485 251 234 3 2 0 0 0 2 2 0 0 1 1
B =T H 476 1,143 570 573 1 0 0 1 1 0 1 1 0 0 0
TSEEPQ%IEITH 5471 1,206 575 631 6 6 0 1 1 6 8 0 4 4
m g T H 202 525 258 267 1 3 -1 0 1 4 4 0 0 0
TEED RS EE 1,894) 4,351 2, 142] 2,209 7 4 -1 2 3 3 17 14 2 7 5
‘EE AR — T H 649 1,394 658 736 -2 —4 -1 0 1 —4 4 1 1 0
B AR — T H 616] 1,327 626 701 —4 —7 -1 0 1 -3 6 -3 3 6
ﬁ%% ARTEE 1,265 2,721 1,284 1,437 6]  -11 -2 0 2 —7 10 17 -2 4 6
IR 319 895 497 398 3 2 0 2 2 3 3 -1 0 1
HHR—TH 616/ 1,505 758 747 -5 -10 -3 0 3 —6 2 -1 0 1
HR T H| 1,489 3,667] 1,807] 1,860 —6 -2 2 4 2 -9 8 17 5 12 7
HHR=TH 810 2,208 1,091 1,117 0 -2 -3 0 3 2 5 -1 0 1
HARIT H 456 1,118 539 579 2 0 0 0 0 -2 3 2 2 0
PR AE 3,371 8,498 4,195 4,303 -9  -14 —4 4 gl  -15 18 33 5 14 9
JeHR—"T H 599| 1, 466 725 741 2 4 -1 0 1 4 5 1 1 1 0
PR —TH 825 2,153 1,064 1,089 4]  -12 —4 0 4 —4 7 11 —4 0 4
EHIR="TH 431 959 507 452 -2 -2 -3 0 3 1 2 0 0 0
bR EEF 1,855 4,578 2,296] 2,282 -4 -10 -8 0 8 1 15 14 -3 1 4
H BT 321 827 394 433 2 2 -1 0 1 9 9 -6 0 6
el 1,586 5,048 2,313 2 735 0 2 2 7 13 1 2 1
P 756| 1,855 920 935 4 1 4 11 0 0 0
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INE] R EE ISR BRI tEhie N E)
JLAG TR 5 sl Anl ] ARl el sEE] isAl @il AE] (H) [ (—)
FYE T H 699 1,861 958 903 1 -3 -1 0 1 -1 2 3 -1 0 1
FYE =T H 625 1,587 786 801 4 7 0 1 1 9 9 0 -2 1 3
FAAIEM T H 887l 2,250 1,108 1,142 -2 -1 -1 0 1 2 6 4 -2 4 6
Y E T H 560| 1,393 679 714 3 6 0 0 0 -1 4 5 7 7 0
FAIEST H 407 1,058 508 550 -1 —4 -2 0 2 0 0 0 -2 1 3
mEaEr 3,934 10,004| 4,959 5,045 8 12 -1 5 6 13 32 19 0 13 13
s 494f 1,141 558 583 2 3 1 1 0 3 3 0 -1 0 1
e —TH 314 674 326 348 -1 0 0 0 1 2 1 -1 0 1
e — T H 584f 1,372 668 704 -2 -3 0 1 1 0 -3 2 5
RN 898[l 2,046 994 1,052 -3 -3 0 1 1 1 —4 2 6
i — T H 256 622 312 310f  -23]  -22 0 0 of -23 59 82 1 1 0
2 T H 631 1,383 676 707 4 9 -2 0 2 7 10 4 5 1
i =TH 374 968 493 475 -1 -3 0 0 0 -3 3 0 2 2
East] 1,261 2,973 1,481 1,492 -20 -16 -2 0 2 -19 72 91 5 8 3
A E—TH 3851 1,051 504 547 -3 11 0 0 of -10 0 10 -1 0 1
HE T H 428[ 1,106 541 565 -1 -3 -1 1 2 -1 0 1 -1 0 1
s —TH 7581 1,960 980 980 2 7 1 1 0 7 10 3 -1 2 3
HEMNT H 445[ 1,055 508 547 1 -1 0 0 0 -1 1 2 0 0 0
HHIE LT H 737 1,696 832 864 0 -2 -2 0 2 -1 3 4 1 1 0
HHIESNT H 225 490 250 240 -3 -6 1 1 0 -7 2 9 0 0 0
wHlEAE 2,978 7,358 3,615 3,743 -4 -16 -1 3 M -13 16 29 -2 3 5
<HX—TH 606[ 1,452 708 744 -1 0 2 2 0 -2 2 4 0 0 0
<HXL—TH 636 1,558 766 792 2 4 0 0 0 3 9 6 1 1 0
<HX=TH 505 1,194 602 592 -1 -2 2 2 0 -3 1 4 -1 0 1
<HXWMTH 4911 1,109 553 556 2 5 0 0 0 5 7 2 0 0 0
<HXHTH 394 848 477 371 -3 -3 0 1 1 -3 4 7 0 0 0
<HXEE] 2,682 6,161 3,106 3,055 -1 4 4 5 1 0 23 23 0 1 1
W EART—T H 766| 1,712 853 859 2 2 0 0 0 1 9 8 1 1 0
HEART T H 426 1,103 549 554 2 4 -1 0 1 1 1 0 4 4 0
PIEARTAE 1,192 2 815] 1,402] 1,413 4 6 -1 0 1 2 10 5 5 0
L¥E 447 865 433 432 2 3 0 0 0 4 4 -1 0 1
ok — 1 H 956 1,591 703 888 2 9 1 1 0 7 21 14 1 4 3
kA 1 H 373 633 296 337 -1 -1 1 1 0 -2 4 0 2 2
ok A= 1 H 596| 1,648 771 877 2 4 1 1 0 4 2 -1 0 1
ek H 355 774 372 402 5 2 2 0 0 10 10 3 3 0
ik A e 2,280 4,646] 2, 142] 2,504 17 5 5 0 9 39 30 3 9 6
FRIREET H 22 62 31 31 -1 0 1 1 0 -1 0 1 0 0 0
iy 734 1,821 876 945 4| -13 -2 1 3 —4 4 8 -7 0 7
(AL 258 657 316 341 3 7 1 2 1 6 6 0 0 0 0
M ] — T H 390 1,044 536 508 1 5 1 1 0 -3 2 5 7 7 0
A ] T H 317 770 383 387 -1 0 0 0 -1 1 2 0 0 0
R AT 7071 1,814 919 895 2 4 1 1 0 —4 3 7 7 7 0
PafE R — T H 619 1,375 696 679 -3 -6 1 1 0 -2 2 4 -5 0 5
PEfEEER T H 481 1,219 578 641 14 -3 0 3 17 20 3 0 3 3
PEEE A a1, 1000 2,594 1,274 1,320 8 -2 1 3 15 22 7 -5 3 8
P e [ 271 655 325 330 -1 -3 0 0 0 -3 3 6 0 0 0
IR 229 568 306 262 1 1 0 0 1 1 0 0 0 0




